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McllTiers

Alongside the enormous stands for Coke and Disney, one of the main lealuies of
McDanald’s recent convention was a huge demonstration kitchen. Thousands ol
franchisees queved for a chance 1o peer from a calwalk at the burger Nippers below.
MceDonald's new “Made Tor You™ system, which has taken five vears to prepare, is
crucial o s future, 1 alse marks a8 e allempt o bring  juat-in-lime (1T)
manulacluring techniques Lo a service industry,

McDonald's denies that its new system, which costs around $25,000 1o install,
has anything to do with competitors’ burgers tasting better—it is just responding to
|eustomers needs. Bul “Made for You™ is plainly an answer (o the charge that made-
to-order food from rivals such as Durper King and Wendy's tastes fresher, At present,
e Domald’s franchisees olten halch-cook their meals for busy periods. The Tood then
lses some ol its (avor siting around.

McDonald's spent a lot of lime studying manufacturing systems like Toyvota's.
lts pew systems is a mixture of technology and reorpanization. The lechnology
includes gaclgets that can toast buns in 10 seconds, and ovens thal can keep burgers
fresh lor up to 20 minues. Bul the main point of the system s speed. The aim is o
serve each customer within 90 seconds of ordering,

The moment a g Mac is ordered, a computer sereen in the kitchen fells e of
the: workers (o start assembling it. Meanwhile, by monitoring the flow of orders. the
computer also estimates [uture demand. indicating when (o start cooking things (like
[ries) that cannot be squeered into e M-second slot.

It remains o be seen whether the franchisces embrace he syslem, “Made for
You™ should help et stock costs, and there may be some stall savings. But the prool
of the pudding will, so to speak, be in the burgers. An early indicator of therr taste
came from one franchisee who has installed (he new gyetem and whe teld the Chelarnde
Hentinel thal his stall “have started cating the food agaim™,

(The Econentist  Aprit 4" 1998)

() CRA S5 B4R " Made for You™ Sk, 2
(b il "Made for You” FRIIA p o
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1.8uppose that Oenesral Motors decreases its prices and Ferd and Chryeler

follow this with their own price decreases. Which of the following 1o

cruay

A. This conduct ie consistent with the kinked demand curve Lheory, but
not the price leadership theory.

B. This conduct is not consistent with the kinked demand curve theory,
put it ig coneistent with the price leadership theory.

. The kinked demand curve theory cannot he applied CO the auto
industry, since it is not an cligopoly.

. The kinked demand curve theory cannot be applied since it ig a theory
of monopolistic competition,and the aute industry is an oligeopely.
£. This conduct is consistent with both the kinked demand curve and the

price leadership theories.

n the cage of a backward-bending labor suppliy curve,

the income effect alwaye dominates the substibtution effect,
the substitution eftect always dominates the lncome effect.
the substitution effect is always equal to the income effect.
the gubstitution effect dominates the income effect along the
positively sloped segment of the curve.

“the substitution effect dominates the incowe effect along the
negatively sloped segment of the curve.

m o0 W e

7.8uppose the parking autherities al your college campus decide to
increase the revenue earned from parking stickers by increasing asticker
prices. Which of the following musat they believe to be true?

Parking on campus ig a luxury.

There are few,it any,substitutea for parking on vampus.

The cost of a sticker is a large percentage of your income.

Parking stickers are infericr goods.

Pemand for parking on campus is price elastic.

WO

4 Many people argue against increasing Lhe minimum wage becauae in their
ppinion the result would ke increaged unemployment. Which of the
following best summarizes this argument? A higher minimum wage would
A. Increase the supply of labor while decreasing the demand for lakor.
B. decrease the supply of labor while increasing the demand for laper.
C. increase the guantity supplied of labor while decreasing the quantiky

demanded of labor.
N. decrease the guantity supplied of labor while increasing the quantity
demanded of labor.

increase the supply of labur while decreaaing bthe guantity demanded

of labor .
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Externalities are defined as

A. any productive processes external to Lhe Firm.

B. unpriged byproducte of ronsumption or production knat harm
or benefit thoase not involved in the transaction.

0. policies thal firms undertake to sell outaide the country.

D. managers' dealings with managers outside Lhe £irm.

E. none of the above.

The value of cross-price elasticity of demand between popcorn and

peanuts is positive. Thie indicates all of the following except one.

which cone?

A. Popcorn and peanuts muat be pubstitules.

B An increase in the price of popcorn will ghift the demand curve [or
peanuts to the right.

¢, An increase in the price of peanuls will shift the demand curve for
popcorn to the right.

D. A decrease in the supply of peanute will shift the demand curve for
popcorn o the right.

E. Popcorn demand and peanut demand are price elastic.

A rise in price along the elastic segment af a given demand curve will

7. decrease total utility,marginal utility,consumer surplus, and
conoumer expenditure.

B decrease total utility,consumer surplue,and consumer expenditure, and
increass marginal utilitcy.

¢. decrease total utility and consumer surplus,and increase consumer
expenditure and marginal utility.

D. increase consumer surplus threugh a decrease in consumer expenditure.

E  decrease congumer surplus through an increase in consumer expenditure

Which of the following is true of a perfecktly competicive Lirm that

operates in the short run at the profil-maximizing guantity but nokb true
of a menepolist that does not practice price discrimination?.

Marginal revenue ilg less than marginal ceoBL.

Price is greater than marginal cost.

Marginal revenue equals marginal cosb.

rrice equals marginal ocost.

Marginal revenue is greater than average revenue.

mOOm M

If a firm is better off operating than ghutting down,what 18 true at

the quantity where marginal cost egquala marginal revenue?
Profit is maximized.

Average cost eguals avoradge ravenue.

Total cosbt eguals tokal revenue.

Revenue 1lg maximized.

fost is minimized.

il Wl

1f two perfectly competitive firms have the same short-run supply

~urve,then they muslL have the same

A. marginal cost and average total cosb curves,

B. marginal cost and average fixed coBL curves.

., average total cost and average fixed cost Curves.

D. average fixed cost and average variahle coat curves,
E. marginal coet curves.

| -
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11.Which of the following is true of marginal revenue for a monopolist that

does not price diacriminate?

A.
B
=
I

E.

P = ME bucauge Lhere are no close subkskikutea for the monopolist’'s

product. :

P > MR because the monopolist must decrease price on all unils sold
in order ko mall an additional unit. .

P « MR because the monopolist must decrease price on all unites sold
in order to gell an addicional unilk. .

AR = MR because therec are no close substitutes for the monopolisl's
product . o ]

P = MR only at the profit-maximizing quantity.

What is the effect of imposing a %100 lump-sum tax on a monopolist that

continues to operate after the tax?

A,

f m

=

The firm experiences no change in the profic-maximizing price or
quantity,or in its profit.

The f£irm experiences no change in the profic-maximizing price and
gquantity,but its profit decreases. _ S

The firm experiences no change in the profit-maximizing price and
guantity,but its profit increases. .

The firm's profit-maximizing quantity increases,but price does nol
change .

The firm'e profit-maximizine price decreases, but guantity does not

change.

.Which of the follewing is most likely toc be an increasing-cost indusLry?

o I 3 |

An induatry whose firma experience diminishing marginal preoductivity.
An industry whose firms experience economies of scale.

An industry that is a major buyer in the markets for the inputs it
uses.

An industry that ig a very small buyer in the marketa for the inputs
ik uses.

An industry Lhat is a major seller in Lhe markels [or _ts oubputs.

14 . With perfect price discriminalion,

mEDom

the marginal revenue curve becomee sgteepar,

the demand curve alsc becomes the marginal revenue curve,

the demand curve is steeper than the marginal revenue curve.
the demand curve is not as steep as the marginal revenue curve,
there is no way to define marginal revenue,

15.If the firms in a monopolistically compaetitive industry are incurring
asHort-run loesesn,which of the following will occour in the long run?

A.
B.

mgn

Soeme firms will leave the indusktry.

Customers of firms that leave the industry will switch bto remaining
firms. :

Firma that remain in the industry will face increased demand.

Firms will conblinue Lo Louvur losses.

A.B,ahd C.
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.1f the central bank had to choose hetween fixing the interest rate and

fixing the supply of money,

A, it would always fix the money supply, sc that the price level would
be stable.

B. it would always fix the money supply, so that spending would bhe
stable,

C. it would always fix the interest rate, so that investment would be
gtable.

. it would always fix the interest rate, so thal demand [or money would
be stable,

E. neither alternative would be clearly better than the other.

In combating stagflatien,

A. a government-induced increase in aggregate demand would help reduce
inflation but aggravate unemployment .

B. a government -induced decrease in aggregate demand would help reduce
unemployment but aggravate inflation,

C. a government-induced increase in aggregate demand would help reduce
unemployment but aggravate inflation.

0. the experience of the 19708 proved that Keynesian economics was
crucial

E. a decrease in aggregate supply would malve the prablem.

When money is included in the model, the effect of expansionary fiscal

pelicy on real GNFE are

A, magnified becauase of the increase in the interest rate.
magnitied becauvae of the decrease in the interest rate.
diminished because of Lhe increase in the interest rate.
diminished because of the decrease in the interept rate.
unchanged.

el gl e

The crowding-out effect of higher interest ratea can be
avoldaed by

A. expangionary fiacal policy,

B. expansionary monetarv policy.

€. contracting monetary policy.

L. decreasing taxes.

BE. none of the abave,.

LAl increase in required reserve ratio would tend to

A, raise excess reservaesg and raise the money multiplier.
B. lower excess resarvesg and raioce the money multiplier
C. increase excens reserves and lower the money multiplier.
D. lower excesa reserves and lower the money moelliplier.
F. none of the above.

-
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Z21.According to the law of comparative advantage, an individual should
produce a goad if he or she

A. has the
whether
B. has the
i+ with
C. has Lhe
whether
D. has the
I with

lowest vpportunity cost of preoducing the good recgardless of
it is produced with the fewest resources.

lowest opportunity cost of producing the good and can produce
the feweshk resources,

greatest opportunity cost of producing the good regardless of
it is produced with the fewast reaources.

greatest cpportunity cost of producing the good and produces
the fewest resources.

E. can produce it with the fteweat rescuiirces.

22.0f the following fipcal programa, which has the least effeclk, per
dellar, on aggregate demand?

L]

HOWE

defense spending.

road constructiorn.

granta for scientific research and development .
goccial welfare.

government purchases of labor.

22.Halging the discount rate ls
A. an expansionary policy, because it raises the ratio of excess fo
total reserves in the banking system.
B. a contractionary policy on the part of member banks of tLhe Fedaral
Regerve System, bmcause it raiswes firms’ costs of korrowing from

them.

C. a contractionary pelicy on the part of the Fed, hecause it raises
commercial banka’' cocat of borrowing from it.

. an expansionary palicy on the part of member banks of the Federal
Reserve System, because it railgee their profits relative to those of
nonmemnber banks,

E. an expansionary policy on the part of the Fed, because increasing the
interest rates banks are allowed to charge will increape their
willingness to make leans,

<1.From a Keynesian viewpoink, under which of the following conditions

wollld monetary policy be legs effectiver

A. both the demand curve for money and the demand curve for investment
are flat,

B. both the demand curve for money and the demand curve for LovesLment
are pLtecp.

C. the demand curve for muney is flat and the demand curve for
investment is greep.

D. the demand curve for investment is flat and the demand curve for
money is steep.

E. both the guantity of money demanded and the quantity af investment
demanded are very senaitive to changes in the lnlerest rate.
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If the demand curve for good X ia Q = 1000 - P* , where Q and P are the
gquantity demanded and price of good X, respectLively. Compute the price -
elasticitcy at DP=20,

Suppuse a monopely [irm is producing good A. Glven the following
information:
marginal revenue = 2000-400Q

marginal cost = 200+200
Compute thiﬁFrofit for o+ good A sold at eguilibrium lewvel.
R 7% ¥

C = 10600 4+ 0.75(¥=-T), T=3000, G=2000, T=2060, ¥=40080 and M=1000+0.25Y,
where ¢, I, G, T, X, M, ¥ are consumplion, lnvestment, government
gpending, Lax revenue, exporkt, impdrt and GNP, respectively. Compuls
the trade deficit (or trade surplus) at the eguilibrium level of GNE.

Compute the government expenditure multiplier in above guesation.

If the CPI for 1596 and 1997 are 120 and 130, respectively, what is the
inflatien rate far the 1987 7

In an economy in which the growth rates of income velocity of money and
real GNF are 2% and 4%. According to "The Quantity Theory of

Mocney", a 12% growth rate in the money supply would result in  how
mucth percentage growth in price level?

Il your total utility function is ofXY ; , which X and Y are two
goode. The price of good X is 510 and the price of good ¥ is 320.
you have income 3240, Compute Lhe maximum wutility that you can
achieve.

=

e o BE B v = BA b ML
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I. Mintzberg concluded that managers perform four dilfercnl management rofes,
2. When planning iz inaccurnle, it complelely wastes management time,

1. Load charta schedule capncily by wark cenferfunits,

4. The critical path is the most fime-conseming sequence of evenls o pogect

5. Equity theory suggests individuals' primary concern s with absolute rewards.
i Tu enhance molivation, rewards should be finked 10 efTor,

T AdF lenders should ideally be manapers.

8. I behavioral theory of leadership halds, individuals can be trained o be leaders

W SR (SR 025 RHE LS 5 )

L. Which of the following management roles is NOT interpersonal?
8. Mgurchead b lewlership c. enlrepreneur d. liaison

2 Which of the following types of plans atlempts to be the MUST Mexible?
a. directional plan b, long-term plan ¢. specific plan  d. strategic plan

3. What | the major strength of a zero- base budgel?
a, its widespread uze and acceplability
b. its simplicity and emphaais on prior budgels
€. it is o way to identify inelficiency and wasie
d. all of the above

4.The more rules and procedures in the orgonization, the more
a. complex h ks k. ceniralized it is
e. formalized it j= d. succeaslul it will become

3. Which of the Tollowing would be considered a motivator by Herzherg:
&, company policy b. pood working condition
¢, Mexibifity d. achievement

6. According lo the three-needs theos y of motivation, the most successfel managers have

., high nich; low nPow b high mAch; low na ¥
g, low nA high nPow d. lowr nch; high naff
TR T FUE— 8805 « 5L computer propram SRR A, 8 B &0y leadership style?
B, Fledler [contingency ) imode| b. Trait thenries of leadership
<. Pathv-goal theory i, Lemler-parlicipation model

& Which of the following is besl suited { 4§77 ) for well-structured problens?
a, rules b. procedures e, pulicies d. all of the above

B - WIPRGAED (255), WS 25 ) — (AT RN - R ke )

1. Satisficing 2. Benchinarking 3. Groupthink
d, Contingency Approoch £ TOM . . Core Compelence
7. Wirtwal Corporation b Re-engainerting B Retienclnent Simlegy

10, Vertical Inlegration
- IR (a9 )
I FEHMY rational decision making 405 M4 3 SRR ARH 7 (54

ZATY A2 3 SHUERE Functional Structure B Divislonal Structure (7FRETS - (5 43
(20 AMRSEHAL: WIERFH Matrix ( SERIE Y Structere TARELRE « 1 45 )
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5.0 0 —E4AE N (leader)frt {4 T6F « 3E[Y] - 355 Fiedler{contingency ) leadership theory FIER
WE  fHEAET LML Y (5 5r)
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Setting Strategies al Drypers Corporation

When you're king of the hill, there's always someone who wants to knock you down. And, iF you're
not carefal, removing you can easily be done. Consider that David slew Goliath, that Wal-Mart
replaced Sears as America’s number one retailer, and that little Microsoft Corporation has eonsistently
outsmarted 1M, How were these feats accomplished? Through careful planning.

Years ago, companies like Procter & Gamble and Kimberly-Clark dominated the [1.5. market for
dizposable diapers. Their big brand sellers, Pampers and Huggles, respectively, were the clear winners
in the $4 billion a year disposable diaper industry, holding some 85 percent of the market share
between them. Today, however, competition 13 getting fierce. And much of the chase of the big two is
coming from Dave Pitassi and Wally Klemp, cofounders of Drypera Corporation. The two college
buddies from Portland, Oregon, dreamed up their businesa idea while students, Although their ventura
was not highly regparded by those around them, they never gave up hope. They knew from their
research that there had to be a market for a quality, off-market diaper. Bul they had to have o focused
plan ta go up agamst the likes of Procter & Gamble.

In |';|Rﬂ. al nyLE IWEIIL}'LU][I:I_', the two dl:\-l:'h;;lpq-.d a barsinness [r|n|‘| dn!igl‘lﬂd to shrow “r'lﬂ-l'lﬂlﬂl
backers how they would become a low-cost producer of quality disposable diapers. Although they ran
inio severs| roadblocks along the way, the nwo perseverad, Pitassi and Elemp's main thrust was to use
materials from local businesses in their production of disposable diapers. This approach enabled thew
to manufacture a cheap but good-quality diaper, In tts Frst vear, Drypers generated just over $100,000
in sales. Then the workd opencd up. Decause of careful long-term planning and several marketing ploys,
Drypers sales jumped to $35 million by the end of the third year. And, with a carctul ahalysis ef how to
txpam:l EVED IS, nl'_lr'pn‘_l‘.i-. acouired twe regional diape manifacturers. Dy the end of F%96, sales had
reached vver 8150 million. Today, Drypers continues its sirong growih aml now accounts for more than
& percent of the disposable diaper marker,

(tuestions:

I Michaesl Porter identified three EEREr: 5Ir.ﬁ||;-.5if:s thal carmpanies can follow to developa Gﬂmpﬂtitl'ﬂ'ﬂ
acdvaniage. Which one of the three do you believe Drypers is using? Dascuss aocd support your choice,

2. How would you recommend they explot their competitive advantage? How can they sustain it?
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ff'ﬂ?p = Inl'-_u'umticiﬁ Reports, Inc. ( 5_02)

Jlane Hayrnes was receritly promoted o sales manager lor Information Reports. Inc.
Inlormatien Reports gathers data rom huge husiness data hases and fonmuakoes it
into repaorts that e sold 1w business lirms, Repons Include everythimg Trom croudn
reperie 1o airline schecules 1o market resesrch Information Reports’ major com-
et 1z Lhun & Bradstreet o large fiem that s considered agile and innovane
Walernsaun Repors’ growth bas been rapil; abowr the tme Hayvnes was promoted.
el P sales pweeseres were e s ber seall PRy weere wecenl collepe el
s el eirgen e make aomack wetly the SR

Withi o few mombs, e of the pew aallers approached Haynes sy an
tchaa b nes prpduact, A castomer needed speamlized data and. i the price was
rah, s report could be a prohtable new s lor Inlarmstion Repors woenter,
Hayaes belped the new employee develop o proposal [ne the executive wice presi-
e secking permissnm o develop the mew prodaet. Three weeks (sl angd
PUFETISEIET WS TLeL yol grantel

Haynes decided wpo ahead and esiablish a product design teaim an  tral
Psie thar woudd consist of one person eacly lrom. e sales, administrative seevices,
A inlorraien i.'l'.'lt1|';f':'|'!5 -'.lr[mrer'.L'nH | |.=.',.-|'|-:-'~. Lnes received an ':":""C'-"":-" ﬁ'r_'||1|'| Lhe
LRIV W |'l||"-.i|!|'r| aricl talked 10 mher desanment heads abowt the L':"ILII'IL_‘I:

Phe design team produceed the new o in just threr weeks, The customar wax
very satished, and severat other customers wene excellent prospects as buyers fon
the new nepaoert

:‘.lt"l.'il'lg the sucoess of the new e, oither new sales pppp:._r heggn Iy ELL-
prst new proshocy possibalnics. Some older salee people were skepuical because the
new products changed 1the products they were used W They pradually agreed 1
o aleng if an wiea worked ool ol siere celocoint v ol suppestions of (heis
L

fowon Haynes bac several design wemme coordingting wark on new informg-
tivn prxlucts. She even recommended that the ieams da apecial "upsel” analyscs
0 look for unusual product variabons ol existing repors

Hhangs were poing well cxoepa fon e unp-term employees, They seemed 1o
b Tearful abason she rapid changes sod the direction sales was headimg, 1 our senise
wles |'."L'I'!I|'!lh-‘ came Lo Plavmess cllice o poedesy e ol whiche new repans waen
peverated. They peinted cul haw one idea hadn' worked a all s o g el
last developing it had been equivalent 1o five eoployecs lor six weeks. The falure
had set everyone behind hecamee several cusiomers were interested | and then
Informatitn Reports was upable t deliver Haynes ademtted that she had made o
sericnls nilstake in :'.Itlgr'nﬂnl i B!'.'k'I:Pl.iI‘IiE__ e l:|l.':"=.igl'l teams recoommencd aton

lhe alder workers prefered the slhower mechod of passimg a new wdea lram
one deparineenn e the nexy an Betlng wop management sgsroval helore starbng
This pave the sales people 8 chanoe to learn ahout the data content of 4 new re
and 1o update the catalogs they used 1o sell wepons m customens, W dont wan
v stafl chrange,” said one of the senfor workers “We Just wanl 1o do a gooid o
with the products we have We dont sec why you shoubd Torce cChange gl
these design teams ane we would like o see (bem dishanded. ™

Haynes wasn sure whan te du She believed the product design temns pave
lislrmati o Heporls o [asl response that waonhd meer costomner reeeds [iseer than
majir competilors such as AR She also fel the design eam suecess would give
ber o pooel shon 3 promution 1o the position of marketmg vice presiclent. wihch
would be vpen with the retmement al ber Boss nest year 8 e established wirk-
Urs Wi lLI'Ii14'I|'.I|'I:.-'I |1|'|'|.'|.-|"1.|l-'|I L proorned v wers oL ensunedd, 1 ehe dishondded e
dlesign weams, new product tanovation would siow down. and the wounger siles
‘H'ﬂl'-'h-" serrtdcd e Trusteated aocd woulel consiches 'Il'il:'l.'iIIH tlae CETT[Y Flnmes saw
Thal resentmuent was poowang hepwcen the tae proups, and she samdered s
conthd b elone tha would saesly everyone, To make matiers woese, ol eee
erCCUlive cpmimies me el the |3'I".'.*|I|:||."|I stressecl the T FESRFIEIR o ¢ T
corparale culture mowhic by all i,'||'|l}|(l':,.'{' e lely mvelved and compasied se 1he B
i aned sashicd with ther wisrls
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QULESTIONS
SO Is che paobbers in s case? Do conl Flignes get the clader soorkers te e
long with desige temm developaent ol ew posdocis?
- = Flaynwes ussegs the vl teclisioues Tee deselopuog new pooclugis? P gl
wientivgy Cluange? 1 so, why are the older waskers anbapme? Hiow can che sanely
bt gerostps of waorkers?
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The flexible tiger
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Taiwan has laryely escaped the mauling many Asian econarmies have suf.
fered. One reason may be that its companies are allowed to fail

ﬁln'ﬁ siring of financial crises has ex-
posed the fact tha the fasr groweh of
many companics has depended cricically
0N easy maoney, The ready availabiliy ol
bank loans, often extended at govern-
ment behess and av anractive interesy
rates, allowerd Indonesias nascent con

glomerates and South Karea's chaebal 1o
purtue mirket share and expand intn
new felds witltout worrving about rates
of returne fn Thailand and the Fhilip-
pines, fixed cxchange rates maede ﬁ:”':iﬂ""
curreney leans ook cheap, But when cri-
sis came and the eagy money dried (1T=%
debtladen companies were  quickly
mired in Anancial trouble Their resorue.
turing will entail redundancics and nlant
closures, which will make the econamie
situation all the rmore serious,

Line of Asia%s so-called Tigers, howr
ever, hae fared far better than the resi.
While Korea and South-East Asis are
strugghing, Taiwan has so far escaped

with 8 emall curreney devaluation and a :

ielatively madest decline in share prices.
Eeonomic growih remaing Elrang, Wark-
ing out why Taiwan has ourperformed jis
neighbours will keep economisis busy for
yrarsiocome, & light foreign-delt burden
15 one likely explanation. Better banking
regulation is ancther. A third probable
cause of Taiwan's suecess i3 more contro-
versial: by having a maore fexible ccon-
amy than some oter Asian countries,
Taiwan may have been better positicned
to withstand the storms.

Exactly what does *Rexibiliey” means
A new paper®, by Bee Yan Aw and Mark ).
Roberts of Pennsylvania State Universi Iy
and Kiaomin Chen of the World Bank, of-
fers a partial answer. One secret of suc.
cess, they suggest, is that Taiwan makes &
rasy for new companies to get a sar—
ared fou oled omes 1o fail,

Stert-up companies, they find, have a
key rolte in the most unlikely industries.
Chemical manufacturing, for ex mple, i
widely regarded as a business wihere the
neex] for huge capital spending gives an
Bdvantage o |ﬁg.mi!ﬂlﬂbljshﬁdcﬂuﬂpa-
nies. And et in 1pg1, qo% of Idiwan'y
chemical output came fromn firms that
did mot exist in 1986, One-third of the
value of Taiwan's plagtics production
and half its output of Fabricated rmetal

F'Firmdevel #videmes on produciveily difernmals,
furnver Bnd meports in Taiwenese e LT ET T T
MaER Waking "eoer 4215 Cranher (-0

ICONDMICS FOEUS

products were also altribusable to Rims
T sthan fvevearcaid. -

The newcomers, it seems, establish
their place in the market by foreing old-
limers out of business, Firow that had ae.
counted for 3% of Taiwan's chemical
prawfuction in 1981 had left the business
by 1991 Incuber seciors—including ones
which were expanding rapislly overall—
the carnage was even worse Four out of
five firms that manufaciured clothing.
mectal producs textiles and plastics in
1981 either closed or changed lines of
buisinesg over the nest deceds,

This creative destraction SPUErs in-

CF Ir stive destruction .
r Iﬁtﬂ:l h‘ﬂllfm1 504, W
@ w3 anm 15" ":u-_ bt | M. 1.8

Toitmn [

fl-whnq.h 1 e
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currthents to gy trim and helps spread
newe 3kills quickly. as the suecessful en
frams tencl to be mare efficient than the
firms that die, they boost produchivity
across the economy. Between 14986 and
19%:. total factor producrivite—the jn-
crease in output due to mare eMicient use
of inputs such as labour and capital—in
Taiwans elecirical-machinery induatny
rose 23.6% Over a third of thar, the re
searchers estimate, came Nom newr frme
pushing our less efficient ones. In the
chemicals industry, where productivity
growth was shower, & whopping three
fifths of the gain was due 1o the entry of
highly efficient firms and the et of
seodgier ones,

These impressive hgurea prabably un-
derstate the impact of Taiwan's sink-or-
swim s itude ioward buginese, Improve-
ments in ensting firms' efliciency, which
account fior most of the rest of Taiwanese
productivity growth, are in large pan
fpurred by potential comperition from
nesw entrants and the fear of bankruprey.
The eage with which Sarmpanies are borm
ansl fail is clearly one reason why Tai-

wans towal fecter prodwcevity has im-
praved faster than that of all siber Asian
ComeRleies STRCE 19640, From 1984 94 anly
Thailand had a betier recard (see chart)

o has Taswsn succecded in stz
laring eo much new business formation?
In earlier decades, the | siwancse govern-
mertt wied directed lending and impoen
profection in order 10 fosier domectic
manufacturag, But as these polices have
receded in recent wears, lowered 1rade
barriers have forced manufacturers 10
face vigumnr: competition domestically
and do seck markens overvess, This is di-
rectly related 1o productivity growil; the
authors find that firms that export tend 10
have higher productiving than thase thar
da nat,

The benehits of banks upicy

Taiwans policics differ from those of
some other Asian vouniries in another
important way. The Taiwancse legal sys-
iem purs relatively faw obstacles in the
way of bankwipicy. This encourages in
wastors, lenders, workers ancl ITHTTAGETE 10
act prudently, becauss they knaw thar the
consenjuences of bad decisions may be fa-
tal Far the Rem. 41 has aleo made enteepro-
Reurs accustomed ho staning again afier
their ventures collapse Failure is nosin

Manufacturers appear o shape their
stralegies in irsponse o these pressures
In panscular, many Taiwarese O pa-
nies deliberately seek 10 minimise irre
liievable expenses or, a5 econamists call
them, “sunk coses”. Firms tend 10 clugier
in less capatal intensive indusiries and 1o
subrontract the production of many of
their eomponenrs. That means they do
At need to spend much on fived assets
such a8 machinery, which, in any case,
cam &atily be sold oft 1o rivals i 4 Bren
goes ot of business. Many Taiwanese
companies hive also chogen 1o be suppli-
&rs for other firms, ofien in America or |a
pan, rather than developing twands of
their owm, This reduces the need for ex.
pensive advertiging and research.

Tarwan is by no means immune from
the broader forces it have aMlicted all of
Acia, 115 stockenarker has Fallen T% tince
Oectober, and its currency, the New Taj.
waan dollar, is off 12.5% against the Ameri-
can dollar The even larger evchange-rate
devaluations in couneries such as South
Eorea and Malavsia will unednhred by
parf rmvany Talwaness hrma undes fires=
sure. Bul its history of allowing troubled
Businesses io die and mew ones to spring
up should make it asier foe Taiwan e gd.
vt o by lene bymes,
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1. Suppﬁuse you wanl (o compare consumer ratings of six different treatments.  The
objective of this experiment is to determine whether differences exist in the rating
levels of the six treatments  1Ulse the Friedman test to determine whether the
following data present sufficient evidence to indicate differences in the rating levels
of the six treatments. Test using e == 0.05, (15%)

Treatment
Subject 1 =i 3 4 5 6
1 5 7 & 4 B 3
2 G 6 T 4 10 4
T3 8 9 Y & 10 7
4 4 7 5 : 6 5

2. A production process comprises three machines A, B, and C, with reliabilities 0f
0,99, 0,98, and 0.95, respectively.  In order for the process to function properly, all
three machines must function, Engineers are weighting two alternative designs
for increasing the reliability of this process. Plan | involves adding an identical
backup process, and plan 2 involves providing a backup for each machine. In
either case. three machines (A, B, and C) would be used with reliabilities equal to
the original three  Which plan will provide the higher reliability? (20%)

1 What is a balanced incomplete block design? Explain what it meant by the words
“balanced” and “incomplete”. How can this design be randomized?” (15%)

4. Dynasty Restaurant is contemplating vpening & new restaurant on Mu-5in Road.
Tt has three different alternatives, each with & JilTerent seating capacity  Dynasty
estimates that the average number of customers per hour will he RO, 10, or 120

The payoff table for the three aliematives is as follows |

Average Number of Customers Per Hour

80 L 120
Alternative A $10,000 ' $15,000 | H14 000
Alternative B 58,0040 | $18 000 %12, 000
Alternative C | $06,000 ! F16,000 $21,000

Drvnasty estimates the probability of 80 custumers per hour is the same as the
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probability of 120 customers per hour and twice as much as the probability of 100
customers per hour, (25%)

(a) Using the expected monetary value criterion what is the optimal decision?
(b) Dynasty must decide weather or not to purchase a marketing survey from Ji-Nan
Marketing Corporation for $1,000.  The results of the survey are "favorable” or

"unfavorable”. Should Dynasty buy the survey? The conditional probabilities are:
P{favorable | 80 customers per hour) = 0.2

P{favorahle | 100 customers per hour) = 0.5
P(favarable | 120 enstomers per hour) = 0.9

5 A service station manager wants to estimate the mean summer weekly demand for

three types of gasoline, leaded, unleaded, and super unlcaded.  Perform an ANOVA
analysis based on the following data (in thousands of gallons). (use @ = 0.1} ( 35 %)

|-GH.!E.I“Itt_‘_” B Twml woek 7 | week 3 | Week 4 | Week 5 | Wock 6 | Week 7 | Woek 8
leaded | 24| 26| 27 28 30/ 26 27 24
unleaded, | 182 197 213 224 215 197 180| 188
super unleaded | 43| 46| 47| ss| so| a8 46| 50

2t =0.483 ¥, =1107T1  ph  =12.592

Pz =213 Foran =237 Fipu=219 Faran ~ 2.81

toosss =1.782, ;= 1356

ey a1
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